Time : Three Hours

Note :- Attempt one que

compulsory cons

‘WORLD REGIONAL GEOGRAPHY-II

use outliné stencil maps of world/continenfs/countries. Candidates can ask for outline world map.

=

Section-A

Describe the Drianage Sgstem of India.
Describe the influence o

latitude on climate of Africa.
Section-B

Describe the distribution of Population in Australia.
Give an account of distribution of Petroleum, in Asia.

Describe the

. Section-C .
areas of Food-Grain production‘in Australia. -
distribution of Automoblleslndtlils in Asia.
ection-

Describe the Means of Transportation of Africa.
Show the following on the outline map of the world :
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V.

V.

VL Describe the
VIL

VIIL

stion each from Sections A, B, C and D carrying 10 mlal\;[lzlsxgg&r.nsﬁﬁ{é{rsl E7i2

isting of 15 short answer type questions carrying 2 marks each. Candidates are allowed to
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a) Sahyadris,
Yenisei River. ) .
Areas of Temperate Grass)ands in Africa.
Areas of Mediterranean Climate in Australia.
%@f{aggscarAlrslﬂnd.l

ilippines Archipelago,
R ed'gp pelag

ca.
Trans-Australian Railway Line.
1} Gold producing areas of Australia.
Kilimanjaro. )
Section-E

(1]

)

IX. Explain in few lines:
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a) Willy Willies. . _
Four countries of Africa through which Equator passes.
c (S;‘t%pper producing countries of Africa.
es.
e Foul_jrpMouptain ranges branching out from Pamir Knot.
Tarim Basin. | :
Two Iron Ore mines of Australia, . .
Effect of Canary Ocean current on the climate of Africa.
* Suez Canal. .
Four cities located on northem coast_of Africa.

10x1=10

Which two countries of Asia have highest growth rate of population.

) Murrqy-Darlm% Basin.

m) Four islands of Indonesia. .

n) Four items of Export from Australia. | .

0) Areas of Very Low Population Density in Africa.
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